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Q.No: 1  Magsaysay Award was established by which of the following trustees?

2426989
AR REPR P RO Fofared ¥ & 5y ot grr 3t v o
Rockefeller Brothers Fund
A
(PR Fad bs
ARM Trustees
B
TIHREH THT
International Award for Young People
C
a1 it F g siRffia e
CSU Trustees
D

ey gt
Correct Ans : A

Subject : General Knowledge

Q.No: 2 Which among the following is the main Colour of the National flag of Nepal?

2428931
Foffed & 3 S & AU & TP G BT g T 82
Pale White
A
drer whg
Dark Green
B
TERT &I
Crimson Red
C
frre ¥ (Right amn)
Light Orange
D

ot ARt
Correct Ans : C

Subject : General Knowledge

Q.No: 3 What does P stands for in the term DPIIT?
2430689

DPIIT Ug & p &1 @ 31 872

A Product
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Place

<

Promotion

IR

Price

B IEL
Correct Ans : C

Subject : General Knowledge

Q.No: 4 The Department for Promotion of Industry and Internal Trade (DPIIT) was established in the year

2430690

INT wd SfiaRe AR aed RumT (Sidfterdenseh) &) wmmAr af o @1 TS o

1975
A

1975

1985
B

1985

1995
c

1995

2005
D

2005

Correct Ans : C

Subject : General Knowledge

Q.No: 5 Which is the premier investigating agency of India?

2431459

YR BT TG SF T i I B2

National Crime Records Bureau
A

P IRty TS R

Central Board of Indirect Taxes and Customs
B

FhT e FR SR T e S

Central Bureau of Investigation
C

Fila wig SR

Enforcement Directorate
D

yade e

Correct Ans : C

Subject : General Knowledge
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Q.No: 6 Which is one of the largest river basins of the world, covering an area of 11,65,000 sq. km?

2432097
11,65,000 T fbTt &% P B F AT g BT HeW F! A WA H | TH P A &7
Ravi
A
It
Krishna
B
Eauil
Kosi
C
P
Indus
D
Riy

Correct Ans : D

Subject : General Knowledge

Q.No: 7 Who among the following started “Home rule league” in September 1916 in Madras?

2433578
frafifad & ¥ fFam RideR 1916 B A5 & "8 & A" L& B2
Annie Besant
A
o ade
Lala Lajpat Rai
B
GIGIGISEGRIC]
Mahatma Gandhi
c
wgTeAn ih
V D Savarkar
D

4t St wTaReR
Correct Ans : A

Subject : General Knowledge

Q.No: 8  Who among the following gave the famous slogan "Do or die" during the “Quit India Movement”?

2433588
Frafafea # 9 e "WRd Blg! Sicie" & SR P31 1 TRI" T Uikt X7 fam ure
Lal Bahadur Shastri
A
T SETgR ATt
Mahatma Gandhi
B
wETeAT el
Rabindra Nath Tagore
C

Tt AT R

D Chandra Shekhar Azad
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TR TG
Correct Ans : B

Subject : General Knowledge

Q.No: 9 What is the rank of India in the world in the production of agrochemicals? (Only from the given options)

2434460
P TG & IATE & HRd b1 3y F ) I ®H  ? (Pad o ¢ R § )
First
A
W
Second
B
fota
Third
c
g
Ninth
D
rai

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Which of the following planets is nearest to the Sun?

2437246
Frofafed & 4 o1 o 95 o & 99 Fee 82
Mars
A
HiTel
Mercury
B
94
Venus
C
Ricd
Saturn
D
=y

Correct Ans : B

Subject : General Knowledge

Q.No: 11 Population control and family planning comes under which list of seventh schedule of Indian Constitution?

2437338
ST F SR aRaR ey SR @t wdt s @ e et ¥ st o &2
State List
A
g
Union List
B
Lickicl

C Concurrent List
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Tt gt

Red List

GIGE:Cif
Correct Ans : C

Subject : General Knowledge

Q.No: 12 Which state has the second highest population as per the Census 2011?

2437339
2011 B SIUAT & SIER 5y Io0 B e o) Tad Sifie 22
Uttar Pradesh
A
I W™
Bihar
B
ferR
Andhra Pradesh
C
iy R
Maharashtra
D
HERTY

Correct Ans : D

Subject : General Knowledge

Q.No: 13 In which year did the British army captured the fort of Chouragarh?

2441130
fafe=r 31 7 forg of IRTTg & fFd W oo foram ar?
1815
A
1815
1816
B
1816
1817
C
1817
1818
D
1818

Correct Ans : D

Subject : General Knowledge

Q.No: 14 In which of the following places of Madhya Pradesh is the Badi Gufa, a 10th Century cave, situated?
2441343

e e & FEfeied ¥ ¥ 59 ®M W 104 T B 5t T R 82

Panchmarhi

deHd
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Sanchi
B

i

Amarkantak
C

3ARDH

Bandhavgarh National Park
D

TiyaTg AP SA
Correct Ans : D

Subject : General Knowledge

Q.No: 15 Goddess Sati’s necklace is believed to have fallen at ______ in Madhya Pradesh.
2441401
T 1 § 6 S weht &1 BR v vew B H R T
Ujjain
A
Io
Chitrakoot
B
Rege
Omkareshwar
c
SPTRR
Maihar
D
IR

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Burrakatha folk dance is performed in which of the following states?

2442376
Ryt A T Fafafed & § foeg g § fesan s &2
Karnataka
A
FHfed
Andhra Pradesh
B
ST T
Tamil Nadu
C
afrerrg
Maharashtra
D
HERTY

Correct Ans : B

Subject : General Knowledge

Q.No: 17  Where is the headquarters of IMF and World Bank situated?
2442412
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IMF 3R fay §& &1 qEay we fd 82

Washington DC

aifive Sif

New York

g4l

Louisiana

R

Detroit

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Which State has won the Most Film Friendly State Award at the 68th National Film Awards for the year 2022?

2443200
¥ 2022 & 687 TP rer PR & 5w T 7 Walies fred oif@d ITod T RHR Sidl 82
Meghalaya

A
Bl
Uttar Pradesh

B
IR W
Maharashtra

C
HERTg
Madhya Pradesh

D

T W

Correct Ans : D

Subject : General Knowledge

Q.No: 19 Buland Darwaza is located in which of the following district?

2776136
Feie axaren Fafaied # § e o & R 32
Bhopal
A
rarer
Delhi
B
fowett
Hyderabad
C
FwmEe
Agra
D
SITRT

Correct Ans : D

Subject : General Knowledge
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Q.No: 20 Chief Justice of the Supreme Court is appointed by the

2776137
v B¢ & T g B gl ERT P St B
Prime Minister
A
YT H#A
President
B
aregufa
Speaker of the Lok sabha
C
S qHT F Seae
Governor
D
reyuTel

Correct Ans : B

Subject : General Knowledge

Q.No: 21 In thermodynamics, which process includes no heat transfer in or out of the system?
2425910

Fuyafiet 7, g ufthar & Rien & 3ieR a1 a1eR $1s TH gaiaRor WA e 82

Isochoric Process

A
TFEBIRG ufear
Isobaric Process
B
HWeE &g ufsear
Adiabatic Process
C
e ufsean
Isothermal Process
D

goreHa ufear

Correct Ans : C

Subject : General Science

Q.No: 22 Which country is the leading producer of spices?

2429274
TG BT TG IATGH S P AT 87
India
A
YRA
china
B
Cin|
myanmar
C
HiHR

D bhutan
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e
Correct Ans : A

Subject : General Science

Q.No: 23 Which one of the following characters is seen in the monocot plants?

2429830
Frafafea # 9§ SH-91 T Thde el # @1 o 82
trimerous flowers
A
ARE ga
pentamerous flowers
B
e
prominent primary roots
C
LECRISIEEA S
strong stems
D
wEgd ®H

Correct Ans : A

Subject : General Science

Q.No: 24 is incorporated into life forms through the basic process of photosynthesis which is performed in the presence of Sunlight by all life forms that contain
2431689 chlorophyll.

T ALAYUI B A WA S MAW Y P Sfia-&) | v {obar S 8, S 9 b Uebrl B SUrf H FRiithel gaa wl st 0t gRI e S 8
nitrogen
A
ATggrer
carbon
B
EacE]
hydrogen
C
eI
magnesium
D

ifREg

Correct Ans : B

Subject : General Science

Q.No: 25 Which of the following is the local variety of bees used for commercial honey production?
2431719

HGIAF WEe IUTEH & o 7 F & wiF & v fw o) gyafeed) o1 Suan e s 82

Apis cerana indica

ofey I sfear

Apis majora
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oftre TorT

Apis mellifera
C

oftrg Aferdser

Apis nectarius
D

iy ARRaw
Correct Ans : A

Subject : General Science

Q.No: 26 Which of the following is a part of the respiratory system?

2432511
Fafifed # 3 S 497 73 1 T W 82
aorta
A
wEIHHA
pharynx
B
PGl
urethra
C
awrt
bile duct
D
o arfer

Correct Ans : B

Subject : General Science

Q.No: 27 In which of the following ways can HIV spread?
2434291

Frafafea # 9 e i & . oms. . e qeba o2

Hugging an infected person

A
T Wepiia e o T I
Shaking hands with an infected person
B
wepfea wfea & g1 e
Sharing food or utensils with an infected person
C
Jshfira cafed & 1Y WIS a1 S |8 ST
Sexual contact with an infected person
D

Tepftr cafed & T1Y 4 Hudh

Correct Ans : D

Subject : General Science

Q.No: 28 Which of the following can act as sedatives and tranquilizers?
2434342

fufifad & § o IHE R EfFaser & 0§ S 6 Jabdl 82

A Amphetamines
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T

Coffee

Eavil

Barbiturates

EUEEEE]

Cocaine

P

Correct Ans : C

Subject : General Science

Q.No: 29 If we heat water, it will contract till the temperature of -

2434571
I g9 U+t Y T BRd &, A qg ___ Am b Rige -
49K
A
49K
40¢
B
ELTe
2.734°C
C
2.7340C
SOK
D
50K

Correct Ans : B

Subject : General Science

Q.No: 30 Sodium metal should be stored in -

2437153
DTG U1 T HSRUT BT AT -
water
A
it &
the open
B
AR
kerosene
C
FARE F
alcohol
D
epigd |

Correct Ans : C

Subject : General Science
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Q.No: 31 Which one of the following is produced during the formation of photochemical smog?
2439840

BT 4 BIER & T & T 7 o I $H-1 TP IG 8ial 8?2

Methene
A
AT
Nitrogen oxide
B
ATEG V- SHTRIES
Nitrogen sulphide
C
IS HEPTES
Nitrogen sulphide di mono sulphide
D

ATEE IS WEPISS STE HiHl TehEs

Correct Ans : B

Subject : General Science

Q.No: 32 A shark does not have.......
2440076

gill slits
A

TAwS

swim bladder
B

o =y

ventral mouth
C

SR e

placoid scales
D

WHigS T
Correct Ans : B

Subject : General Science

Q.No: 33  What is the class of Salamander?

2440093
JereR forg o 1 32
Amphibian
A
SUTW
Chordata
B
P3er
Animalia
c
RR!S

D Salamandra

GET IT ON

Google Play
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TarHgT
Correct Ans : A

Subject : General Science

Q.No: 34 Choose the correct seasons for Rabi, Kharif and Zaid crops

2783650

&, Blw SR ST W & R wet wew I

Rabi- Monsoon; Kharif- Winter; Zaid- Summer
A

- w; @6w-udl; e - W

Rabi- Summer; Kharif- Winter; Zaid- Monsoon
B

- Hw; Edw-wdl; g - A

Rabi- Winter; Kharif- Monsoon; Zaid- Summer
C

I-wdl; TEhw-uRE; we - i

Rabi- Summer; Kharif-Monsoon; Zaid- Winter
D

Idi- Her; @EE-ATRE; wE -
Correct Ans : C

Subject : General Science

Q.No: 35 What is the mode of reproduction in the image/jpg where new individuals are formed from specialized outgrowth?
2783796

Budding
A
Taifea
Fragmentation
B
fadsa
Pollination
C
WA
Vegetative propagation
D

TIYfd AR

Correct Ans : A

Subject : General Science
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Q.No: 36 Find the wrong term in the series?

2422631
70-80 63-72 28-32 54-62 14-16
gl & TTed Y &1 Idl TI?

70-80 63-72 28-32 54-62 14-16
70-80

A
70-80
63-72

B
63-72
28-32

C
28-32
54-62

D
54-62

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424539
ST Weq b1 T Hifo|
Lucknow
A
TGS
Varanasi
B
RTORS
Haridwar
C
FRER
Kanpur
D
PR

Correct Ans : C

Subject : General Reasoning

Q.No: 38 In the given diagram, Triangle represents the Actors worked in Hindi films, Circle represents the Actors worked in Bengali films and Rectangle represents the Actors
2426584 orked in Tamil films.

Which number shows the Actors who has worked only in Bengali films?

fu v e B, Ay &) fherlt & B B3 a1 fMaret &1 ufiffc wear 8, g Sl fbedt & o wa ard siftAdredt o1 ufafifia s € ok smad aftd fhedt & & B ard
st &1 gfafifiea wRar g1
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FHH-T1 AR 37 iftarei F eifar ¥ e Haa s feed # o far g2

9
A

9

5
B

5

6
C

6

1
D

1

Correct Ans : C

Subject : General Reasoning

Q.No: 39 Which of the following diagram indicates best relation between Doctor, Teacher and Postman?
2426732

i & F $1 a1 3RE STy, g 3R S1fhaT & d Tad 3fey Jde Bl gxiiam 82

&

®
OOO

B OOO

| @)
@)
o8y
20

Correct Ans : B
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Subject : General Reasoning

Q.No: 40 Which is the wrong number in the following number series?

2429726
25, 50, 75, 100, 127, 150
Frafifea dem see § S1-8 Fe mod 87
25, 50, 75, 100, 127, 150
50
A
50
127
B
127
100
c
100
150
D
150

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.

s R [

I ficped &1 909 B o A APl A I YR Feiftid & R UeR ol o, ueeh Sl & Tefi B

S|l r |l -

®
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2

A

Correct Ans : C

Subject : General Reasoning

Q.No: 42 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.

2433456

Problem Figures

APPLE|(VBbI'E|::|BALLS || ?
Answer Figures
BALLS||ST1vE| |BVITZ| |211A8

(a)

I et &1 907 Y ol T 1l A S yoR Fafd B R TR gadt siefa, T el & Teift &

()

U9 IR :

(e)

(d)

APPLE[:

Vbbl'E

#|BALLS |

3?‘1'{’311?@1:([:

BALLS

ST1vd

BvVITe

ell1A8

(a)
(a)

(a)
(b)

(b)
(c)

(c)
(d)

(d)

Correct Ans : C

(b)

Subject : General Reasoning

(e}

(d)

GET IT ON
Google Play
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Q.No: 43 Complete the question figure by choosing the best alternative from the answer figure.

X
DHKD
IR G H Y G 31 [qHed T Uy S1Pfa & -7 Fifer
@
D AD
Y
S
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Correct Ans : A

Subject : General Reasoning

Q.No: 44 In the following question, select the odd number from the given alternatives.

2435057
fafafad wy & fou v fawet & @ fawy e &1 999 S|
2040
A
2040
4705
B
4705
6874
C
6874
5412
D
5412

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Identify the classes that best represents the relationship among the given diagram.

2435563

3 AT B TeEH B o U T 3R & d Yy BT Yo 3T Ui HRd g

@

Jain text, Vinaya pitaka, Mahayana Sutra

A
9 uTs, fama fies, wera= 93
Magesthanes, Tripitaka, The Agamas
B
e, Aftes, smmra:
Buddhist, Indica, Tripitaka
[o
13, RF1, Hfes
Vedas, Regveda, Kaamveda
D

3g, H1g, WIS

Correct Ans : C
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Subject : General Reasoning

Q.No: 46 Identify the diagram that best represents the relationship among the given classes.
2435675

Sea, Island, Mountain

I 3RW B UG B off fau MU RN & e ey 1 T sret vl wear g1
g, g, udd

,__\‘.

YO)

Correct Ans : C

Subject : General Reasoning

Q.No: 47 How many squares are in the given figure?
2437676

@ TS ongpfar F fpem vl B2
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13
A

13

20
B

20

16
C

16

23
D

23

Correct Ans : C

Subject : General Reasoning

Q.No: 48 Find the number of triangle in the given figure.
2438122

A

& ¥ anefa & By #t Se 19 sifl

é

AZ4

24
A

24

25
B

25

26
C

26

28
D

28

Correct Ans : B

Subject : General Reasoning
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Q.No: 49 Find the number of triangle in the given figure.

2438134
& ¢ el # Brye 3 ¥ 91d S
6
A
6
7
B
7
5
c
5
8
D
8

Correct Ans : B

Subject : General Reasoning

Q.No: 50 DIRECTIONS: In the given question find the answer figure in which question is embedded.
2442055

Question Figure:

X

Answer Figures:

EKIK|A R

(a) (b) (c) (d)

i : R ey § 97 I e I FIR R vy srpfa Pl B
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TS SHTET

[

KX AR

(a) (b) (c) (d)

figure (a)
PR (a)

figure (b)
3MFA (b)

figure (c)
PR (c)

figure (d)
3B (d)

Correct Ans : D

D

Subject : General Reasoning

Q.No: 51 DIRECTIONS: In the given question find the answer figure in which question is embedded.
2442056

Question Figure

)

Answer Figures

86|V

(a) (b) (c) (d)

e : U e vy B 98 SR opfa I1a Bifo for® uy sepfa fAfkd 81
U761 3Pic-

0

86DV

(a) (b) (c) (d)

figure (a)
3TPpTa (a)
figure (b)
pfer (b)
figure (c)
TP (c)
figure (d)
3t (d)

Correct Ans : A

D

Subject : General Reasoning

Q.No: 52 In a certain code Language, ‘ELECTRIC' is written as ‘FMFDUSJID’. How is ‘NATIONAL' written in same code ?
2726848

% fAf¥d Bl W #, 'ELECTRIC' &1 'FMFDUSID' ferar Srdm 81 It e HTor H 'NATIONAL' &1 f5g YR forar smarm?
A BOUJPOBM

GET IT ON

Google Play
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BOUJPOBM

OBUJOPBM

OBUJOPBM
OBUJPOBM

OBUJPOBM
OBJUPOBM

OBJUPOBM
Correct Ans : C

Subject : General Reasoning

Q.No: 53 Consider the following statements and arguments numbered I and II. You have to decide which of the arguments is/are strong argument.
2727081

Statement:

Cell phones and smartphones are they safe for us?

Arguments:

(I) Yes, this gives us all online information.

(II) No, this is not fully protected because the complete solution of cyber hacking not get till now.

Frafafed HuAl oIk o 1 3R 11 R AR $R 1 SIS I8 T A1 § & HH-91 d Heigg ad /8|
BY:

A qYT TEH- T Tg AR 1Y JIEw 82

b

(1) &, T8 5 Tt TRE B THHR AR IuTH A

(11) 7Y, I8 I8 @R QRIEd e § i WeR 3 1 i e ¥ THE onft d K iy urm g1

Only argument I is strong

A

Faq a I 7eIgd &

Only argument II is strong
B

Fqq b II T99d §

Both arguments I and II are strong
C

Y 9 I 9T II Aelgd &

Neither argument I nor 11 is strong
D

1A qF 171 b 11 Aeed §
Correct Ans : B

Subject : General Reasoning

Q.No: 54 In the given question a statement followed by two assumptions numbered I and II have been given. Consider the given statements to be true even if it seems to be
2727082 4t variance with commonly known facts and then decide which of the assumptions is/are implicit in the statement disregarding commonly known facts:

Statement:

In the recent state assembly elections, the one party which was also big party of the state in previous elections got lost in the recent elections.
Assumptions:

(I) It may be possible that public of the state not happy with the work of previous government.

(II) It may be possible that previous government done too scams in their tenure.
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&3 T vy ¥, T T S 1Y S QYR 1 97 11 & Tt 1 39 B Bl I AR A 8 I8 g 1d a2l 3 i 4t 1 g1 smuet gg M e 8 5 @y
T gdeRon erafed 22

B
BT & o GHT g1 B, T uref ot Red g9 & Ja9 9t urcl ff @t 51a € % g9 § gR )
gdeyrom:

(1) B Il 7, IT BT ST IS TWPR F S F T 1 81

(11) B Tl 3, et WeR 7 o7 Brfw & Tgd dierd {5 g

Only assumption I is implicit

A
Faa qduURT I TR §
Only assumption II is implicit
B
Faa qEuRT 11 R &
Either assumption I or II is implicit
C
7 & qdurRon 1 91 11 SrafifRa #
Both assumptions I and II are implicit
D

311 qdurRoNd 1 auT 11 et §

Correct Ans : D

Subject : General Reasoning

Q.No: 55 In these question, relationships between different element are shown in these statement. These statement are followed by two conclusion.
2727103

Statement:

R>M=N=zK_N=P>L >T

Conclusion:

(DR>L

(IHM>L

vy H, Ho H it dal & o s axifar T B Ude A & a1e @) e g R
HU:

R>M=N>K,N=P>L >T

forsad:

MR>L

(IHM>L

Only conclusion I is true

A
Faa freed 1 98 2
Only conclusion II is true
B
Faa freed 11 98 §
Both conclusions are true
c
g fred T @
None of the conclusions is true
D

1§ ot frepdf Wt et §
Correct Ans : A

Subject : General Reasoning
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Q.No: 56 Two students appeared at an examination. One of them secured 9 marks more than the other and his marks were 56% of the sum of their marks. What are the
2422263 marks obtained by both of them?

3 BT T W B AT §U I A TH A g A 9 9 3ife U {5 SiR SUS i, IF Sl & TN BT 56% AT I I gRT UG S oM &2

39,30
A

39,30

41,32
B

41,32

42,33
C

42,33

43,33
D

43,33

Correct Ans : C

Subject : General Maths

Q.No: 57 Ap ore contains 12% copper. How many kilograms of the ore are required to get 69kg of copper?

2422312
T D T 12% AT 3l 5| 69 ot il Iy aoet o T fapa fopai R 3R &1
ATl §Ic 57
580
A
580
585
B
585
590
C
590
575
D
575

Correct Ans : D

Subject : General Maths

Q.No: 58 The boys and the girls in a school are in the ratio 46 : 14. If total strength of the school be 3000, find the number of boys and girls.

2429459
Th o J TSP 3R TSPl BT U 46:14 B IR Tpdt B $d T=AT 3000 B, A TS AR TSfHa} Bl TR F1d FHM
500,2500

A
500,2500
2300, 700

B
2300, 700

C 1200,1800
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1200, 1800
1000, 2000

1000, 2000
Correct Ans : B

Subject : General Maths

Q.No: 59 The ratio of ages of Sonu and her mother is 12 : 15. At the time of Sonu's birth her mothers age was 30 year. Find the present ages (in years) of Sonu and her
2429492 . other.

TR 3R SHT AT BT I BT AU 12:15 81 T &S SH & G0 39! Af b1 3% 30 ¥ ot Wi 3R ITPT Af B adA= 3mg (ast #) 71d P

55,86
A

55,86

75, 100
B

75, 100

85,120
C

85,120

120, 150
D

120,150

Correct Ans : D

Subject : General Maths

Q.No: 60 A sum fetched a total simple interest of Rs. 4000 at the rate of 10% p.a. in 5 years. What is the sum?
2432814

T IR W 5 a8l F 10% vfd a8 BT &R ¥ 4000 TUA HT et AR SIS U M| A 47 82

2000
A

2000

4000
B

4000

6000
C

6000

8000
D

8000

Correct Ans : D

Subject : General Maths

Q.No: 61  What would be the simple interest obtained on an amount of Rs 9535 at the rate of 12% p.a. after 4 years?
2432883

9535 JUY B AR W 12% U ¢ F R F 4 9 S1¢ U g1 1T YIYRN S BT gIm?

Rs 4576.8
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Rs 4576.8
Rs 6098

Rs 6098
Rs 2567

Rs 2567

Rs 5345

Rs 5345
Correct Ans : A

Subject : General Maths
Q.No: 62 2 6 8
2433003 What should be added to (; + ;) to get (‘ﬁ)

2 6

(_é)wma:ﬁu(;+;)ﬁwaﬁgrmmm

61
15

None of the given options

faw T fyweat A & H1§ T8
Correct Ans : D

Subject : General Maths

Q.No: 63 If the ratio of boys and girls in a school is 5:4. If 25% of the boys and 20% of the girls come to school by bus. Then what percent of students do not come to school
2435200 by bus?

e T enad o dsd SR Asihal B U 5:4 Bl AR 25% TsH 3R 20% TsHar 79 A fameg om g1 df fea ufawra o= foamag a9 9 7 omd €2

73.2%
A

73.2%

72.25%
B

72.25%

C 75%
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75%

77.22%

77.22%
Correct Ans : D

Subject : General Maths

Q.No: 64 The ratio of income of Aand Bis 5: 6, C: Bis 3:4 and C: D is 2: 5. If we subtract the difference of D and B's income from the sum of A and C's income then it is
2435434 equal to 680 rupees. Then find the sum of the income of A, B, C and D?

A 3R B BT 31T $T U 5: 6, C: B HT UG 3: 4 3R C: D BT UG 2: 5 T AT A 3R C B 31T & TN qUT D 3R B B 34T b R PT 3fck 680 IUT €, A1 A, B, C iR D F
3T BT T 1 B2

Rs 4040

4040 373
Rs 4280

4280 ¥UY

Rs 4080

4080 ¥UY

Rs 4020

4020 39

Correct Ans : B

Subject : General Maths

Q.No: 65 If 200 laddus are distributed in the Republic Day celebration in such a way that each gets 5% of the laddus. How many persons were present in the celebration ?

2437809
MU feaw TURIE # afE 200 AEg 39 TR dic T b YIS BY 5% T8g e | RIS | fba =afea deg 3 2
8
A
8
10
B
10
24
C
24
20
D
20

Correct Ans : D

Subject : General Maths

%"\13%16268 A certain sum amounts to Rs 9075 at 6 % p.a. in 3 i3a'ea.rs at simple interest. What will be the simple

interest on the same sum at 10% p.a. in 6 vears?
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wﬁﬁaﬁﬂﬁ()‘?faﬁaﬁﬁﬂﬁ3§aﬁﬁwmq¢90?smam—cﬁﬁ|
10% ufa af & 27 & ¢ aul & gHeT UM &1 FaReT =4 fordar glem?

Rs.3760
A

Rs.3760

Rs.4810
B

Rs.4810

Rs.5346
C

Rs.5346

Rs.4500
D

Rs.4500

Correct Ans : D

Subject : General Maths

Q.No: 67 A sum of money doubles itself in 5 years using simple interest. It will amount to eight times itself in how many years?
2439153

T R JURY SIS R 5 I8 & W B g B 9 31 78 e anf # e Bt 3i1e T g S

10 years
A

10 quf

12 years
B

12 quf

15 years
C

15 auf

35 years
D

35 gut

Correct Ans : D

Subject : General Maths

Q.No: 68 Vasavi, the rice trader mixes 2 varieties of rice. The cost price of the first variety of rice is twice the cost price of the second variety. If Vasavi sells the mixture at the
2730412 (o5t price of the costlier variety and makes a profit of 35%, then what is the ratio in which the varieties of rice are mixed?

I, T I IR B S S 6w & I1ad B e SaaT 31 Ul b & 91ad T 5hd Ied, O [ & dI1ad & $a Hed 31 SR 31 i ardt Heh e & 91ad & %9 g
TR 301 BT JAaT § 3R 35% BT ATH HAGT 8, dl [ U & A1aq & el o1 foramar mar ot 2

7:13

A

7:13

13:14
B

13:14

1:3
C

1:3

D Cannot be determined
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Fruffea €Y forar s apar @
Correct Ans : B

Subject : General Maths

Q.No: 69 A trader sold an article at a gain of 12%. If the selling price is decreased by Rs. 110, there would be a loss of 10%. Find the cost of the price of the article.
2781077

TP ORI 3 12% & A WR U6 a¥g 911 3 faswa 7ea & 110 T H, 10% 1 511 ghft| a¥g &1 piva d ifea?

Rs. 700
A

Rs. 700

Rs. 500
B

Rs. 500

Rs. 550
C

Rs. 550

Rs. 600
D

Rs. 600

Correct Ans : B

Subject : General Maths

Q.No: 70 sinA 1—cosA Cot®A
The value of( )—( + l)is?
2781234 1-cosA sinA 1+cosecA
sinA 1—cosA) ( Cot®A )
(1—cosA sinA 1+cosecA+ 1)=r gﬂ
3
2
A
3
2
1
2
B
1
2
1
C
1
2
D
2

Correct Ans : D

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426640
2x3+8-12+6=20

feu U gHieRu & I 9 & fore 5 & Semell & euw & Sgar o aifgu?
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2x3+8-12+6=20

2and 8
A

23R8

12 and 3
B

123k 3

8 and 3
C

83k 3

2 and 6
D

23R 6

Correct Ans : D

Subject : Mental Ability

Q.No: 72 Which two signs should be interchanged in the following equation to make it correct.

2436530
10+5+=10=8-10=16
el Teiie=u 3 98 F7H & R 7 < Jadi I IRER Fad 9T a1fgu?
10+5+10=x8-10=16
+and =
A
+ 3R+
-and +
B
- 3R +
= and
C
=3«
= and +
D
« g+

Correct Ans : B

Subject : Mental Ability

Q.No: 73 By looking in a mirror it appears that it is 6 : 30 in the clock. What is the real time?

2437750
<N F T G T B 5 g H 6 : 30 991 R &1 IS T T 22
6:30
A
6:30
5:30
B
5:30
6:00
c
6:00

D 5:00
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5:00
Correct Ans : B

Subject : Mental Ability

Q.No: 74 What angle is made by minute hand in 33 sec?

2437773
forTe @Y g2 33 Yobs & e 101 ST B2
40
A
40
33°
B
33°
5.9¢°
c
59°
4.9°
D
49°

Correct Ans : B

Subject : Mental Ability

Q.No: 75 X and Y are brothers. R is the father of Y. S is the brother of T and maternal uncle of X. How is T related to R if S and T have no other brother or sister.

2439339
XRYHUE IR, YPTRAARIS, TN HE B 3R X BT AY/AM 81 TG S 3R T BT Bl 34T UTS 1 987 TaI 8, A T, R J iy uspR Tafera 82
Mother
A
af
Wife
B
LGl
Sister
C
Ergl
Brother
D
g

Correct Ans : B

Subject : Mental Ability

Q.No: 76 Which of the following can replace the question mark?
2440547
P6Q, Q6T, R6W, S6Z, ?

9 ¥ ¥ BIF A e 3 uioifid &R It 82
P6Q, Q6T, R6W, S6Z, ?

F121E

F121E
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T6C
B

T6C

P136U
C

P136U

T128U
D

T128U

Correct Ans : B

Subject : Mental Ability

Q.No: 77 Usha is taller than Nisha; Nisha is taller than Asha, Alka is taller than Usha. Harsha is shorter than Asha, then who among them is the tallest?
2442244

Jo, e @ ot ®; e o @ ol B, St W 4 ot g1 Y, S § Bt 7, dl 38 A I Tad e 22

Usha
A

Ul

Alka
B

3fehT

Nisha
c

forr

Asha
D

3{T=1

Correct Ans : B

Subject : Mental Ability

Q.No: 78 Find the wrong term in the given series:

2442504
2,5,9,14, 21,27
&) T g B TTad Ug 91d B
2,5,9,14, 21,27
5
A
5
14
B
14
21
C
21
27
D
27

Correct Ans : C

Subject : Mental Ability
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Q.No: 79 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2442753
CALCULATION
T T Ifee weal 7 9 98 weg AT S AU T weE & S1eRT BT AN SRS el ST o e |
CALCULATION
Action

A
Action
Nation

B
Nation
Caution

c
Caution
Tension

D
Tension

Correct Ans : D

Subject : Mental Ability

Q.No: 80 Directions: In the question below is given a statement followed by two assumptions numbered I and II. An assumption is something supposed or taken for granted.
2442897 you have to consider the statement and the following assumptions and decide which of the assumptions is implicit in the statement.

Statement:

The agency is conducting random raids and drives in order to check for counterfeit items.
Assumptions:

I. There has been a sharp rise in the sale of counterfeit items.

II. The authority wants to grab counterfeiters before they even manage to start selling fake products.

s Py =T §, T By IR 3P a1¢ 1 3R 11 $ifbd &1 yRumd <) 7€ 81 4RUN Ueb {1 TS o1 gl B SMUY AT T BY P YR TR q9 BT @ [ &, T yRonsh & § s @
YR HYF H g B

BU:
Tl Tl aRgeht B o & R THTes B SR $154 ST 3R W 7
YR

1. e agelt @t st # O 9 g8 ©)

11 WIRIERYT Fohe IaTal &1 Rt & ugdt U et 1 s 9redT 3

Only assumption I is implicit

A
Faa uron 1 PR3
Only assumption II is implicit
B
Faa yron 11 ke @
Either assumption I or II is implicit
C
a1 & ¥R 1 a1 R eRom 11 e @
Neither assumption I nor II is implicit
D

Y 4R 1 SR 1 €t uRon 11 fifRa @
Correct Ans : C

Subject : Mental Ability
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Q.No: 81 Select the correct mirror image/jpg of the given figure, when the mirror image/jpg is placed at the right side.

U ot 9 & S empfa & gl iR T/ W I 919 Wl Ui &1 g B
[€EIDUAB

[€EIDUAB

[ed2UKd

[€edIDUKd

[ELOUAE

[ELDUAE

[£E10UAd

[€10UAd

Correct Ans : D

Subject : Mental Ability

Q.No: 82 In the following question find out the alternative which will replace the question mark.

2727626
FILL : LRXX : : DAME : ?
Fafifad w1 # 39 fawed &I J1d FITE ot U=A fag & RIF W e
FILL : LRXX : : DAME : ?
HBZJ
A
HBZJ
HBBJ
B
HBBJ
HBZZ
C
HBZZ
HBZG
D
HBZG

Correct Ans : A
Subject : Mental Ability

Q.No: 83 If the word ANGEL is coded as BOHFM, then what will be the third alphabet in the code for the word SAVAGE?
2779967
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If& ANGEL & BOHFM & =0 # foRaT STl 8, @ SAVAGE & it 5 ardl sl o fiaRT 31eR o gimm?

B
A

B

U
B

u

w
C

X
D

X

Correct Ans : C

Subject : Mental Ability

Q.No: 84 If ‘MADAGASCAR'’ can be written as '4727879670', then 'MADRAS' can be written as:

2780009

Tfd '"MADAGASCAR’ &1 '4727879670' feral &Il &, d¢f 'MADRAS' &1 &1 forar sam?

424290
A

424290

427409
B

427409

472079
C

472079

472490
D

472490

Correct Ans : C

Subject : Mental Ability

Q.No: 85 In the following question, select the related word from the given alternatives.
2782042

DOC:V :: CAT:?

Fafafea uy §, fou T e § ¥ Y& weg &1 997 |

DOC:V :: CAT:?

Y
A
B

X
C

z
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w
Correct Ans : B

Subject : Mental Ability

Q.No: 86 Find the greatest number of six digits which is divisible by 25, 35, 42 and 75.
2427196

T 3] B 98 G S BT F1d BN S 25, 35, 42 3R 75 § vy g

999600
A

999600

999940
B

999940

999980
C

999980

999856
D

999856

Correct Ans : A

Subject : General Aptitude

Q.No: 87 If one number is 25. HCF is 5 and LCM is 405. Find out the other number.

2427258
Ife U TAT 25 B1 HCF, 5 3R LCM, 405 31 ZES W= T iRl
54
A
54
66
B
66
71
c
71
81
D
81

Correct Ans : D

Subject : General Aptitude

Q.No: 88 If two trains each having length of 300 m are running in opposite direction to each other having speed of 60 km/hr and 102 km/hr respectively. Calculate the time in
2427372 \hich they cross each other completely.

afe 300 Hiex @t wfaTS areft & YermEat HHRT 60 fFl/Her iR 102 frrfl/der @t 7 arelt T-gwR F fawdia faxn & o %6 81 o v 3 ue-
T P! I RE ¥ UR IR &, ITP a1 H AT B3|

13.33s
A
13.33 ¥Fs
25.45s
B

25.45 AFs
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12.78 s

C
12.78 AFs
8.88 s

D
8.88 ¥&Hs

Correct Ans : A

Subject : General Aptitude

Q.No: 89 1n the figure, OP L OA and 0Q L OB.

2431290
Find £POQ if ZAOB = 20°

P
Q

fou oo fA==fafad #, OP L OA @2M OQ L OB.
Ifg ZADB = 20° & £ POQ @ A AT HIfem:

20°

20°

30°
30°

40°
40°

10°
10°

Correct Ans : A

Subject : General Aptitude

Q.No: 90 What should come in place of the question mark (?) in the following question?
2432019

(2% 3> (4 x 9P x (27 x 8¢ =(6)

Fafafaa vy & uyare g (2) F RIF W 1 M Afge?

(2% 33 (4 x 9 x (27 x 8 = (6)"

13
A

13

6
B

6

GET IT ON

Google Play
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8
Correct Ans : A

Subject : General Aptitude
Q.No: 91
2432076 (256)%1° x (256)%%° =?

(256)%16 x (256)°% =?

4
A

4

16
B

16

64
C

64

256
D

256

Correct Ans : A

Subject : General Aptitude

Q.No: 92 A train covers a certain distance at a speed of 80 km/hour in 6 hours. Find the speed of the train for covering the same distance in 5 hours.

2438144

TH 3 6 4 H 80 frrflyvier @t 7fa ¥ v Fifdd gt 7 xell 81 5 9 F WHA g8 99 A & R T 3 Il 1 pifere?

90 km/hr
A

90 et/ der

96 km/hr
B

96 faeit/der

88 km/hr
C

88 fit/der

86 km/hr
D

86 fariit/ger

Correct Ans : B

Subject : General Aptitude

Q.No: 93 The bus fare between two cities in the hilly region is seven times the square of the distance between them. The distance from City A to City B is 12 km by direct
2438198 (qyte, From city B to city A, can be reached via city C and D, where the distance between city A and city C is 6 km, the distance from city C to city D is 4 km and the
distance from city D to city B is 5 km. What is the difference between the expenditure on both the routes?

TH URTS! &F W & Rt & o 99 BT v 3% 9 Bt g & avf 1 I T 31 Ve A ¥ WeR B B gt W Ant § 12 foed §1
TR B I WX A T, WX C 3R D & WeAH J g1 S Toball , STeT TR A 3R TR C & g B g3 6 il B, e C T R D 31 g8 4 i § ok e D § wex B 31 gt 5 et 81
ST AN R T & i BT 3R [0 B

A 469
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469
500

500
529

529
509

509
Correct Ans : A

Subject : General Aptitude

Q.No: 94 If Rajat can do a work in 35days, Raju can do it in 21days. How many days both together can complete the work?
2438237

Ife; Yord et Bf @t 35 T B o) T 8, AL SN 21 AT H IR b1 ¥ S e B Bl fpa o H O 9N I €2
1

112 days
8
A
1
1123
a
liéday:
B
1
15- &3
a
13%@-:
C
1
12-féA
a
13%.53':2,\':
D

1
132 fé9
8
Correct Ans : D

Subject : General Aptitude

Q.No: 95 Manu, Manju and Maya can do a work in 90, 30 and 45 days respectively. If they work together, in how many days will they complete work?
2438323

T, Al 3R AT HE: 90, 30 3R 45 A # 1 B IR GHd 81 A I H-UY F B ©, Al 3 fpan 7 F wed g e

15
A

15

10
B

10

GET IT ON

Google Play
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20
25

25
Correct Ans : A

Subject : General Aptitude

Q.No: 96 1In a box, there are 10 red, 8 black, 5 white, and 7 green balls. One ball is picked up randomly. What is the probability that it is neither white nor green?

2444110
T Sia #, 10 914, 8 FIal, 5 Thg, 3R 7 58 e §1 U i &1 Ae=sar IO/ Sl &1 ST 31 WAl § 6 T8 7 O The § iR T & &7
2
5
A
2
5
3
5
B
1
2
C
1
2
4
5
D
4
5

Correct Ans : B

Subject : General Aptitude

Q.No: 97 Two dice are thrown. The probability of getting the sum more than 10 is-

2444402

B U Y T WY HHA WR AT 10 F 4 U A $) Wi 8-

1/18
A

1/18

1/12
B

1/12

1/6
c

1/6

1/4
D

1/4

Correct Ans : B

Subject : General Aptitude

Q.No: 98 The product of two successive numbers is 2756. Which is the greater of the two numbers?

2444517 < AR TS BT OAHS 2756 21 A1 Gl § § oI & ven o<t 82


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

A
-
c 3
-

Correct Ans : D

Subject : General Aptitude

Q.No: 99 What should come in place of question Mark ‘?’ in the following number series?

2444745
125, 375, 377, 1131, 1133
Fefafad e yaar § u=d forg 2 & RIF W 1 31e?
125, 375, 377, 1131, 1133, ____
3399
A
3399
1136
B
1136
1135
C
1135
1234
D
1234

Correct Ans : A

Subject : General Aptitude

Q.No: 100 1In an isosceles triangle length of base is 20 cm and the altitude of the triangle is 20% more than the base. Find the length of each equal side.

2730254
TP GHfgaTg Brys & 3MUR Bt ofarg 20 i 3R By B HAE YR J 20% 31feb B 1 TP FHA YOIl BT 1S F1dl B
40
A
40
28
B
28
30
c
30
26
D
26

Correct Ans : D

Subject : General Aptitude
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